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Question Paper-1

Time allowed : 2 Hours Medium : Gujarati
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Read the passage and select the most appropriate option.

For ten years he lived with the wolves. Father wolf taught him how to hunt. When he felt hot
ordirty, he swam in the forest pool. Sometimes he wanted honey. Than he climbed up trees like any
monkey. He learnt this from his friend Ballo, the bear. Bagheera, the panther gave mowgli his first
lesson in climbing steep rocks. This man cub was a good and quick pupil. “Little frog”, said Bagheera
when Mowgli was still very young. “You must never hunt either cows or buffaloes. They belong to
man. This is the law of the jungle.”

Sometimes Mowgli went down the hill by night. He looked in the interesting way the men’s
huts. But Baloo and Bagheera taught him to keep away from men.

“Yes, I will live here with the pack.” Mowgli told his friends. “ I was born in the jungle. I have
kept the law of the jungle. I have pulled thorns from the feet of every wolf in the pack. Surely they
all are my brothers.

What is the law of the jungle ?

(A) to hunt cows and buffalows is compulsor

(B) to hunt a man is prohibited

(C) to hunt cows and buffaloes is prohibited.

(D) to hunt a man is compulsory.

How many animals are referred to in the passage ?

(A) seven (B) four (C) Six (D) Five
A group of wolves is called

(A) A pack (B) A herd (C) aswarm (D) a fleet
Where had Mowgli been living ?

(A) in a village (B) on the tree (C) in the jungle (D) on the rock.
- Read the stanza and select the most appropriate answer.

River, river, brimming river !
Broad and deep, and still as time;
seeming still, yet still in Motion,

tending onward to the ocean,

Just like Mortal prime.

In this stanza, river is compared to ...........

(A) Middle-aged Man (B) a careless youth
(C) a child at play (D) an old Man
‘brimming river’ means.............

(A) Completely full river (B) dead river

(C) dry river (D) overflowing river
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(38)

(39)

(40)

(41)

42)

(43)

(44)

(45)

(46)

The river seems still, yet it is ...............

(A) Brimming (B) Broad (C) Deep (D) in Motion
The river is flowing towards ................
(A) the sun (B) the Motion (C) the ocean (D) the time

Read the following pie-chart and select the most appropriate option.
Favourite Sport

.............. is the most favoured sport.

(A) Football

Swimming
. 27%
(B) Tennis ’

(C) Hockey
(D) Cricket

Football
20%

Cricket
30%
............... is preferred less than cricket but more than football.
(A) Hockey (B) swimming (C) Tennis (D) soccer
Which statement is correct ?

(A) cricket not so popular as Hockey.

(B) Football is as much popular as swimming.

(C) Tennis is as much popular as Hockey.

(D) Hockey is not so popular as swimming.

Which statement that Tennis enjoys less but not the least popularity is ............

(A) True (B) false (C) can’t say (D) Not given

Select the most appropriate option.

one can find Lord Vishnu in different shapes and .............

(A) Posture (B) Postures (C) Posctures (D) Poster

Udaymati took up the project for ............ the problems of water scarcity faced by the people
of patan.

(A) to solve (B) solving (C) sollution (D) solve

We can enjoy the ......... of nature in Shimla.

(A) beautiful (B) beatifully (C) beauty (D) to beautify

Find out the most appropriate reported sentence.

She said to her friend, “Do you think your teacher will come today ?”

(A) She told her friend that she thought her teacher would come thatday.

(B) She asked her friend whether she thought her teacher would come that day.

(C) She asked her friend if she thinks her teacher would come that day.
(D) She asked her friend whether she thought her teacher will come that day.
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(48)

(49)

(30)

(31

(32)

(33)

(54)

(35)

(56)

She said, “ I tore them for my surprise”

(A) She said that she tore them for her surprise.

(B) She told that she had torn them for my surprise.

(C) She said that she had torn them for her surprise.

(D) She said that she had tore them for her surprise.

Select the most appropriate question to get the underlined word / phrase as an answer :
He ran very fast to reach the school.

(A) How did he run to reach the school ?  (B) Why did he run fast ?

(C) When will he reach the school ? (D) What dii he do to non fast ?
He gives perfect answers.

(A) Who is capable to give perfect answers ?

(B) What did he give perfectly ?

(C) What does he give perfectly ?

(D) How does he give answers ?

Find out the most similar word

Wicked

(A) honest (B) evil (C) weak (D) strong

to taxi

(A) acar (B) on rent (C) move slowly (D) a plane
Frightened

(A) cruel (B) fighter (C) soldier (D) scared.

Identify the funtion of launguage.

He bought neither a scooter nor a car.

(A) Showing emotion (B) showing necessity
(C) showing alternative (D) showing contrast

Complete the sentence with language function ‘contrast’ pahom ranfast to reach the starting
point.

(A) but could not reach in time. (B) and he tumbled in the way and fell down.
(C) so that he could get more land. (D) so he was deadly tired.
Select the most suitable conjuction to complete the meanigful sentence :

Raja works hard, he doesn’t get the expected result.

(A) since (B) When (C) Though (D) In spite of
Work hard you will not succeed.
(A) or (B) but (©)so (D) and

Arrange the jumbled parts to make meaningful sentences :
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(37)

(38)

(39)

(60)

(61)

(62)

(63)

(64)

(65)

raining heavily it js not possible asitis , to go out  for us

/

/

! 2 3 4 5 6
(A)6,4,3,2,5,1 (B)4,1,2,3,6,5 (©)3.2,1,4,5,6 (D)6,1,2,3,4,5
Gujarat / it / Ahmedabad / most polluted ,one of the  cities of
1 2 3 4 5 6

(A)3,2,5,4,6,1 (B)4,2,1,3,5,6 (C)3,2,5,6,1,4 (D) 5,6,1,2,4,3

Find out the most appropriate response to complete the dialogue.

Kiran: _ (59)

Naren : [ went to my native.

Kiran : How long did you stay there ?

Naren : __ (60)

(A) Where did you go last monday ?

(B) when did you go to your native ?

(C) How did you go to your native ?

(D) Why did you go to your native ?

(A) For my cousin’s marriage.

(B) It was two feet long.

(C) At3pm.

(D) For two days.

Rlg3l menHaEdl tuRAHl oS, Hald (AUS) A e Hi YRaRAA 2euu-n as.
(A) 61243 (B) sletsitll (C) 2AHzlale (D) aslel

1A galda da-R gai-l aruHellul SiaL BeIR Aar: FRA’ ddls vinvua ¢ ?

(A) Qlaun of=s  (B) u-t (C) 59+ (D) Al

ulE 2Ran @ [QRaRuA [Qya uani vy da sng sia daeal DAu s sui o ?

(A) S, S, s9d, AGEL 21B1L 2 o1& R+
(B) HRSL, S, Hodxs, $iA

(C) 2, *Rd, a3, 1Al

(D) ullZdte, A, slldst, x1s8UlAdl

{12 rveiadl Gaal salcn . Fui su1 Gagurl urd Adi 4l ?

(A) 2idAIY Al 27 AeHdlHl maasll

(B) dRAN|IY szl ifaxy da vearel gzl G3d dladl.
(C) &35 A% 2y Al 20ilRddl aadl.

(D) Yarllla 2a1g, Amdl.

AYSel A2 A HAS sUL ASHL 20dg 9 ?
(A) ollén (B) AM (C) ~yils (D) @Rl
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(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

(74)

(75)

2 2uudl 2usld 56 [Quizarl © d 2invl sdl.
(A) LL.O.

(B) UNICEF
(C) UNESCO
(D) FA.O.

olGuauan ouorll s sui ad edl ?

(A) Add1e (B) slsiril (C) 23 dAR (D) @8R
A2+ stuet Al sal s1uel sell 8l ?
(A) slol (B) 41l (C) il (D) w3dAl

uL -l &3 u [Ee-l YRAd Arztacy Alnam si8l s51el ?

(A) U1 sRAUL (B) AEIRRS AR (C) WK (Mo siH1 (D) Hendia bt
A saldai [Qadl 59 ae- e Astudan e, d 2ol sl

(1) ¥R A3s 50 st dLs €l

(2) HeRaS 2L A HellMFsHEL WA AU B .

3) glRaeRAL 12205 YL w1l 20l Halsid dS AR URIg sul.

(4) 2o Amorasdl SHIRcAL WMl gell @l .

(A) ALY 51101 (B) eldlsA (C) A1u881R 2icldn (D) [8e 13l A0q9

QR slAem 931 sUL UH 20l Sdl ?

(A) ‘BlepA W2’ (B) 2igHld Ul C)vaaud<e (D) elae tird

IR AL UHIRAHA T, JuUAdT 53, 69 ? il AU AHU o AHA MURAL UHIAAHA, HIRAUHT 201d 697
(A) 842.20° yd uiiagd  (B) 829.30% yd Iutiagt

(C) 80°.420 yd Iuiag (D) 81°.45% yd Juiagd

613e [SHIAUHT sUL-suL A2 2uden ) ?

—~

(A) 2L, auHL{l, oedl-ia (B) 58112, 8HAL, 4yl
(C) SIRUSIRM, sed, 519131 (D) FaludL, igal, [[islal.
2eHIA-[ASI60R gluungin pudd sul syl HiRd-l Alsu syl © ?
(A) 6 (B) 33+ (C) &zl (D) dlea

IR 2L L5l satadl €l 2iuneil siaial.

(A) Hel el
(B) gwu el
(C) 5197 el
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(D) 2uelail el o




(76)

(77)

(78)

(79)

(80)

(81)

(82)

(83)

(84)

(85)

(86)

(87)

(88)

H HIRAHL HAGUR (312 Yddl QA8 SUL -UH 2o € ?
(A) Al (B) oieleil aul (C) 2uxasl (D) [dxanl
Qiuel vl Geunt su [requni vudg © ?

(A) AHARIR (B) a1l (C) Ad13 (D) oA SisL
[Aorao1R cdrgsirit uddlu (il (o o gvig uall s34 €9 ?

(A) YRvullot (B) Riel=tl (C) 4IRS (D) ulue

$Y, ALY, Lord Al Hiel [AraiR dRlad A2maeu 9 ?

(A) 59 3091 (B) de4L3 (C) Mla-dIR (D) 22

SLmSL VUGARRY, $UL AU 20Ag €9 ?

(A) 91018 (B) H4Uz 3l (C) 8RR (D) 2LsRld
B3l Brausicllil sui o wal ¢ ?

(A) 529+l Hl2L WIHI (B) [Bu1etul Gl uddlu [QciiHi
(C) ededril [Qd11Hl (D) ulBHaLedl o2 a-dlui

@z an [Ban’ s? Goaaii 2ud ¢ ?

(A) 29 AR (B) 22 [t (C) 54 o=t (D) 21l w2

MIRAHE S5 2 A%AL 423 ATy e 24 [Aag [Aeuar saumi 20 6. 7 A2 el sluRaMl
ysaml 2udl 9. d US| 48 wiglniddl sui-sui [Auaiql a1 sl 2l ¢ ?
(A) A&, [@zall olotdl, salsa, gl 14, 63, dir, 2w, ad
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Gujarat Secondary and Higher Secondary Education Board, Gandhinagar

Talent Search Test
Sample Question Paper-1

Time : 2 Hours] [Maximum marks : 100

Instructions:

Read the following instructions carefully and then fill in the required details in English
capital letters in the OMR answer-sheet.

1. Question-paper — 1 will have subjects, number of questions, time and marks as per
the following table:
No. |Subject Question Number Marks Time
1. |Gujarati 1to 30 30
2. | English 31to 60 30
3. | Social Science 61to 90 30 120
4. | General 91 to 100 10 Minutes
Knowledge
Total number of Questions - 100| Total Marks - 100

2. This test-book contains 1 to 100 questions. All the questions are compulsory. Each question
carries 1 (one) mark. For each correct answer, you will get 1 mark. For each incorrect
answer ) mark will be deducted.

3. Total time is 2 hours (120 minutes) for all questions.
4. Don’t make marks or sign of any type in the test-book.

All the questions in this test-book are objective. Every question has A, B, C, and D options
in the answer. The student is to find the most appropriate option and darken the circle
against the questions.

6. If more than one answers are given (circles are darkened)in the OMR sheet, the answer will
be considered wrong.

7. Once the circle of the answer i1s darkened, the answer can not be changed. Don’t use whitener.

8. The OMR answer-sheet is to be submitted to the supervisor after the test-time is over.

Sample Question:-
1. Which is the capital of Gujarat ?
A. Ahmedabad B. Gandhinagar C. Baroda D. Rajkot

® @ © 0

The right answer in this sample question is B. So, darken the circle against B in the OMR-sheet
completely as shown in the example.

(1)



Question Paper-1

Time allowed : 2 Hours Medium : English

Maximum Marks : 100

(1)

(2)

(3)

(4)

(5)

(6)

1A e aidld 2ude usdid Grz-l il [aseu gondl. (W1 2114 2)

“5 N2l merl . HiRdxAL Arguldel 22 ] Y3el Mol dauAs . vl %, vogd saMA
BUIL YLIAHL LY, 5 dAHIRL VAL A DAAUIAR HI2 dH Sl FAGIEIR DRI 9L 7 AR L. SALH Falol
UL, UL ML Ut Yol ALl Yoy, “ail Ml dl 2AHRL sl dl Ul ansid™Mi d
5] dld Mol doell A% 77 UR L. SALH Lol UL, CHIZL HLdL AUHEL Sl VIR, U8 DdrHL BRI
ey [ge da -l wiell o Moy 6. duel we dRal vy o %, “olel | Yasclailell A Rl [Exddl
sIH 5%, [Rsdiel sel s3la A’ q sl 241 Rigidizt Ha Asodidl QRruRl uR sl 9.7
3. AOEA SAUM Uldlrl Dartd w3 R si-) wad) v ?

(A) d-L [l wiael (B) d¥ril Hidl WAl (C) du-l [as wAdl (D) dxel Bt waell
31 sad 02UMA 611 d 24906 AUl dad A Sdl ?

(A) 3522 (B) Aalll-s (C) RaLs (D) auluzus

A dgriad aidld 2udan uadiqn G-l il [dsey pual. (3 214 4)

“Uldletl Ml SLOURL U511l $1H. 53l L UIRSL BUR BUHIR = AvdlL, e, AlH 2814, ¥ vl a1
Hey ™ 69 o cll Ullnl 419Y A 81y, 212@ Uld ¥l tleel SISUSL UsieAL Gualal 12l aledl + gl ddl
s01 56U L1l AA2ll. dHA Uldlel 601 240 YRLsH GUR % (A €ld €9 e -zl % Uitd 21 d-
W Aa 1A 9. dn artan 2], 2AE5R eloraadl, Sl Anadidl S0 2fl €idl 204 2, ual
a o, Uldlell ollgeadl 1ol dl o1o1d 69, el dl WSl vaudll d ddin sel 29l <2ll. d < 1A al
2ls UMl «ell.”

2aeufl HradiA i R (A gla e ?

(A) Wldil oif& uz (B) Uldlrl 6101 i UA$H BUR
(C) wRSl vaudd Gur (D) el Adll 8L Gur
BURLSd AavizHi suL Alsirl Al scuHi 2udl €9 ?

(A) vaHANIR L5l (B) A3 vin deidl-d disl

(C) 2]+l (D) $lldaizgs clsi.

A 2uua deia aifld d-l dlA 2uga usdi- G-l aiou [aseu gsudal. (U5 211 6)

“e31% Y GLIL 99, HerlgA AU 8 24 AR50 2 WA 9. 2gell 532 gl 1 9. Y8 d WA
sou vlld 69, el el &d A 9 i ugdl glg A 9. 2L % UHIRL AR UALs sdHL 2U0L5A-
lesel us ALl o 53 9. iR Aol GUR UHIR vl (Al Hdedel vt Add adudl sHdlR,
adl2 oidd, ASBL. Al sSa1y © 5 0l iUz AvaL [Ql Add Yuie] 52,7

1l sHaiell 5 sHdlR st o ?

(A) 50l 080 vl [QdL Yyl 2 d. (B) sl ¥4 Geu-21d W d.
(C) Mucrirl 2w 42U d. (D) % {letHi i d.

2=l 20905 Y1986 caladl Auis 2 Gersw >y ¢ ?

(A) edLagalldig (B) 1{lot- (C) 2, (D) yd2as,
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(7)

(8)

(9)

(10)

(11)

A 20ua steaiad ailA d-ll DA 2uda uadiq G-l 2oy [asey omudl. (. 7 41 8)
511 53 S @ 2 HIAH

51 52 O @,

1AL HL2L Hes AU

oied ofloy 59 I 7 2 A,

Ul e 530 Al Alsimell

ol 2 Aglyl 12;

HI9L €9 22 Y HerAd HFUL],

SUlAL HOL wa{lR, 3 HIdH.

2puell e 2uuell wA g woll 81 69 ?

(A) WRad- (B) AU 1A ol
(C) 4erd ARy @A (D) w3l WdRL i ALSHS(l Al

1ol Yoo MIRd s 58 ld viedl asy ?
(A) A%BAw, 14 30 (B) WML Hotdul Uis dldlal dal Aglailel 1R ol
(C) H¥ud] Hend s34, (D) Sl vl 24l

A2 2uuen steaind aidld d-l Q2 2udar usdiqi G- aieu [aseu audl. (M. 9 214 10)
gl 21 4 a9l ?
Hieldle{l wtRenn] o a9l ?
2419 L Al dlRlL >iHueL sui ?
Uil 24 Hidddlg 9 29 ?
tlvd €9 51U AlA il Uey ?
Al Helell Wl 9 2l ?
L HAAL d % oA 9 AURMA,
dlc HIZl Hidalg 9 «ua ?
d sqALSl gudl g slHe
ALY gl vl g 2 ?

2 staiaml 56 gedl WRRAlAH caud saumi 2udl 8 ?

(A) 2lagle (B) »i-lg[® (C) ¢5uU (D) 214100
Sl Al stgL sa12 [Qalad e ?

(A) %R 8Ull SALEL A AR (B) S#+ll WielIHL Het A @ldl AR
(C) AlRaIR §8cll Usdl 2 AR (D) 4l diHavdl 24 oY AR

A aoginiedl widl el 4padl ase ikl ?
(A) [Aey[dd (B) RiR4R (C) Mdio (D) AielulA

3)



(12) DA 2uden aa-uedl aseil 569 A3 sigsiAd Al ?
(A) 2[5+ - wias (B) AR-81A (C) AUAUA-UEt (D) AUr-drt
(13) A s2cus aosei-u (gl asel 2 9. d-l 2100 530 weual 5 A U4 suil [Ase a9 ?

(1) (&)

(1) R (a)  dsalgl

(2) [ast (b)  asl

(3)  Hwoud ) [re

(4) Gala d) dad
l[aseul :
(A) (D-(d), (2)-(a), (3)-(c), (4)-(b) (B) (1)-(d), (2)-(0), (3)-(a), (4)-(b)
(©) (1)-(c), (2)-(d), (3)-(b), (4)-(2) (D) (D)-(b), (2)-(c), (3)-(d), (4)-(a)

(14) 1A 2u0e AoEIAL 921 UIdEL 5L AR-A WL 89 d-l [dseu oual,
([aseul :
(A) OUBLdsL -+ + A+ O + o + 2 +Y + -1+ 2
(B) &A-5+N+o+d+2+2
(C) o -e9-+ 2+ +3+A+U+2+ ¢+ 9
(D) [Astr -+ 2+ + % + U+ L+
(15) A 2udal anuel asei-u [Qrezu-l sul [Aseu wigl € d aual.
(A) aud] - dgdl (B) QL - 151y (O) A - 1R (D) &ell - ead.
(16) 2™ - Glugdl - »u 3[uulol Al A galal.
(A) eliidl dlad, (B) elical-l [$4d L gidl
(C) UL 91EL Yidl (D) U1y Al 289,
(17) A 2ude aosuys WS 28 AotHl sUl [Asey il Al ?

(A) RaMl YA wiell Ylaidl 20Ul - uret (B) @l A eRuiHiell Hidl sieiR - wrwlqu

(C) URRAMAL BUEAL L5l 2410100 el 931 - 213el (D) Hacls U Adl wariRl - »ixl(a.
(18) Il 2uden s ansaui (Al Guaio aui ¢ ?

(A) Qe[ Hisealdl 32l 9. (B) #leR %, eald 531, aid u »q.
(C) A42(ldMl HIOL AR A5E sUsl udral. (D) %aldHiell elusl Alell dlds edl.

(19) N2 54 s Gua A 51 Gers@ 9 ?

(A) Y1o19L Y219 Y2e91dLell UsLs. (B) G4 AHL 2L HHdL Y.
(C) [Qe MUl ¥, de 8 AMa 34, (D) gvtetl GlouL €9 Alei 313 .

(20) DA wsuni sy Aulegs QuAY 9 ?
MRasl 58 8 5 Wl $oruigll 2ud 6.
(A) 58 (B) % (C) 4iall (D) 1.
4)



(21)  asUl A dit usR-Al W& dl {1 2uudl €.
(a) 27 54 5100 seil ? (1) [@MRas (b) 215 5U0Y, oA g 84 Acld. (2) uarilansy
(c) 4 ol o GRA V. (3) Ggauralss  (d) 242, HIRL AL 2aell | 4w ! (4) Filacusy
21 [QR1al A0 530 gual $ DA WA sul [Aseq ¢ ?

(A) (@)-(3), (b)-(1), (¢)~(2), (d)-(4) (B) (a)~(2), (b)-(4), (c)-(1), (d)-(3)

(©) (a)~(1), (b)-(3), (©)-(4), (d)~(2) (D) (2)-(4), (b)~(2), (c)-(3), (d)-(1)
(22) A% 5115 Y2A e

(A) UL (B) AACIR1% (C) [zl (D) £31%

(23) Al 2uden aecinidl SHAl visauHL AUAdL A6E ALk

(A) el (B) ad (C) AHs$IR (D) Alvil
(24) AlRcuuofsiA DA UL 52l 2ialS 3 Y2512 8l uadl ?

(A) AR 25184 2AaLS (B) &Rl ati-tvls il

(C) ALy Yael 2igs (D) uRHdlRus 1dls
(25) DA 2udal Aseiql Ase sl s YL sUl [Asey 0l singl ?

(Ao, ~i, &ML, (Beal, A1, dA[AL, el

(A) &ML, ol URAAL, [Bedl, »u, [Qu-, Alas

(B) vtolld, UL, [Beel, &L, -u, [Ques-, aay

(C) AL, volid, [Beell, &L, U, Alasy, [Qaux-

(D) 2ol UL, [(Bedl, aH, (o, Alaor, A
(26) u, vildAL 24 a3 ws sAL AU A% s AL AL WAL 9 ?

(A) A Hedl (B) HlgAel 5. 2l (C) sisldldo sidas (D) »ade Haugll
(27) A 2uden [aseuisi sun sie a3udl [Qeudl o161 4l ?

(A) g8L - oL Ulsami 29 A €ld, o AiMollA ‘8l 584 ul.

(B) Y5ds - dled, qAledl 2 atyed -l @alell A8 2% Ad, Hidl.

(C) 9wl - 6L yglaloll Al 2241 % dls3aAHL daldl €ld €9,

(D) €155 - 2191l ag) s8al-l 5 2% sl 5011 421l Uzl 2ld 536l SlAUSIR.
(28) - 3(2Yd, G120 1A busL vl ALl UR sUL s[AXt s21anl vl - 53 ?

(A) UMlirie (B) "¥e (C) >1vil (D) AR Hedl
(29)  slavil i dui siaagzu A guda 6 dui 59 [Qod widl © ?

(A) 2RI Hdlel - Uuiaul Aelldi 9. (B) HlRioudi - uel 2nelldi .

(C) wvdleL - Wil 2sflal 9. (D) AHlrierl - 2ol 2elldlL €9,
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(30)

(€29

(32)

(33)

(34)

(35)

(36)

A 2udan xRl 0 d- usR [Qag s34 satdd 9. dui sui [dseunt d-l [Qara ) 44l ?
(A) BHIAvLg - oH{let W31 - GUUL AHIA (B) URBA - UR (2174) B9 - ey A

(C) HlgHIUL - HIS 2 HIUL - grg- UM (D) ALl - Aol Aol - dy2™ -

Read the passage and select the most appropriate option.

For ten years he lived with the wolves. Father wolf taught him how to hunt. When he felt hot
ordirty, he swam in the forest pool. Sometimes he wanted honey. Than he climbed up trees like any
monkey. He learnt this from his friend Ballo, the bear. Bagheera, the panther gave mowgli his first
lesson in climbing steep rocks. This man cub was a good and quick pupil. “Little frog”, said Bagheera
when Mowgli was still very young. “You must never hunt either cows or buffaloes. They belong to
man. This is the law of the jungle.”

Sometimes Mowgli went down the hill by night. He looked in the interesting way the men’s
huts. But Baloo and Bagheera taught him to keep away from men.

“Yes, I will live here with the pack.” Mowgli told his friends. “ I was born in the jungle. I have
kept the law of the jungle. I have pulled thorns from the feet of every wolf in the pack. Surely they
all are my brothers.

What is the law of the jungle ?

(A) to hunt cows and buffalows is compulsor
(B) to hunt a man is prohibited

(C) to hunt cows and buffaloes is prohibited.
(D) to hunt a man is compulsory.

How many animals are referred to in the passage ?

(A) seven (B) four (C) Six (D) Five
A group of wolves is called
(A) A pack (B) A herd (C) aswarm (D) a fleet

Where had Mowgli been living ?
(A) in a village (B) on the tree (C) in the jungle (D) on the rock.

Read the stanza and select the most appropriate answer.

River, river, brimming river !
Broad and deep, and still as time;
seeming still, yet still in Motion,

tending onward to the ocean,

Just like Mortal prime.

In this stanza, river is compared to ...........

(A) Middle-aged Man(B) a careless youth

(C) a child at play (D) an old Man
‘brimming river’ means.............

(A) Completely full river (B) dead river

(C) dry river (D) overflowing river

(6)



(37) The river seems still, yet it is ...............

(A) Brimming (B) Broad (C) Deep (D) in Motion
(38) The river is flowing towards ................
(A) the sun (B) the Motion (C) the ocean (D) the time

o Read the following pie-chart and select the most appropriate option.
Favourite Sport

(R.1') TR is the most favoured sport.
Hockey
(A) Football i —
Tennis wimming
12% 27%
(B) Tennis
Football
(C) Hockey 20%
Cricket
, 30%

(D) Cricket
(1) TR is preferred less than cricket but more than football.

(A) Hockey (B) swimming (C) Tennis (D) soccer
(41) Which statement is correct ?

(A) cricket not so popular as Hockey.

(B) Football is as much popular as swimming.

(C) Tennis is as much popular as Hockey.

(D) Hockey is not so popular as swimming.
(42) Which statement that Tennis enjoys less but not the least popularity is ............

(A) True (B) false (C) can’t say (D) Not given
o Select the Most appropriate option.
(43) one can find Lord Vishnu in different shapes and .............

(A) Posture (B) Postures (C) Posctures (D) Poster
(44) Udaymati took up the project for ............ the problems of water scarcity faced by the people

of patan.

(A) to solve (B) solving (C) sollution (D) solve
(45) We can enjoy the ......... of nature in Shimla.

(A) beautiful (B) beatifully (C) beauty (D) to beautify

Find out the most appropriate reported sentence.
(46) She said to her friend, “Do you think your teacher will come today ?”

(A) She told her friend that she thought her teacher would come thatday.

(B) She asked her friend whether she thought her teacher would come that day.
(C) She asked her friend if she thinks her teacher would come that day.

(D) She asked her friend whether she thought her teacher will come that day.

(7



47)

(48)

(49)

(30)

(31

(32)

(33)

(54)

(35)

She said, “ I tore them for my surprise”

(A) She said that she tore them for her surprise.

(B) She told that she had torn them for my surprise.
(C) She said that she had torn them for her surprise.
(D) She said that she had tore them for her surprise.

- Select the most appropriate question to get the underlined word / phrase as an answer :
He ran very fast to reach the school.

(A) How did he run to reach the school ?  (B) Why did he run fast ?

(C) When will he reach the school ? (D) What dii he do to non fast ?

He gives perfect answers.

(A) Who is capable to give perfect answers ?

(B) What did he give perfectly ?

(C) What does he give perfectly ?

(D) How does he give answers ?

Find out the most similar word

Wicked

(A) honest (B) evil (C) weak (D) strong

to taxi

(A) acar (B) on rent (C) move slowly (D) a plane
Frightened

(A) cruel (B) fighter (C) soldier (D) scared.

Identify the funtion of launguage.

He bought neither a scooter nor a car.

(A) Showing emotion (B) showing necessity
(C) showing alternative (D) showing contrast

Complete the sentence with language function ‘contrast’ pahom ranfast to reach the starting
point.

(A) but could not reach in time. (B) and he tumbled in the way and fell down.
(C) so that he could get more land. (D) so he was deadly tired.
Select the most suitable conjuction to complete the meanigful sentence :

Raja works hard, he doesn’t get the expected result.

(A) since (B) When (C) Though (D) In spite of

(®)



(56)

(37)

(38)

(39)

(60)

(61)

(62)

(63)

(64)

Work hard you will not succeed.
(A)or (B) but (©)so (D) and

Arrange the jumbled parts to make meaningful sentences :

/ not possible /3 itis A to go out  for us
! 2 3 4 5 6

(A) 6,4,3,2,5,1 (B)4,1,2,3,6,5 (C)3,2,1,4,5,6 (D) 6,1,2,3,4,5

raining heavily it ig

1 2 3 4 5 6
(A)3,2,5,4,6,1 (B)4,2,1,3,5,6 (©)3,2,5,6,14 (D)5,6,1,2,4,3

Gujarat , it Z Ahmedabad / most polluted one of the | cities of

Find out the most appropriate response to complete the dialogue.
Kiran: _ (59)
Naren : [ went to my native.

Kiran : How long did you stay there ?

Naren : __ (60)

(A) Where did you go last monday ? (B) when did you go to your native ?
(C) How did you go to your native ? (D) Why did you go to your native ?
(A) For my cousin’s marriage. (B) It was two feet long.

(C) At3pm. (D) For two days.

As recommended by Charles Wood, Universities were established in Mumbai, Madras
(Chennai) and

A. Banglore B. Kolkata C. Ahmedabad D. Vadodara
Who was known as a liberal Governor General from those given below ?

A. William Bentinck B. Krippon C. Curzon D. Wellesley
In the area of West Asia identify the countries where more mineral oil is found.

A. Iran, Iraq, Kuwait, Saudi Arabia and Bahrain. B. America, Eggypt,

England, France

C. Russia, India, Thailand, Malaysia D. Pakistan, China, Shrilanka, Afghanistan
Arms of the league of Nations are shown below, Which statement is not an Aim included in
it ?

A. To maintain International Peace and Security.

B. To solve International disputes peacefully through Negotiation or Meditation.

C. Every nation has to respect the Unity and intergrity of other nations.

D. To continue the policy of war.

)



(65)

(66)

(67)

(63)

(69)

(70)

(71)

(72)

(73)

Where is the head quarter of United Nation Situated ?

A. Bertain B. Kome C. New York D. Geneva
Which International Organization is symbolised by the picture given below ?
A.ILO

B. UNICEF
C. UNESCO
D. FTO

Where did the massacre of Jallianwala Bagh take Place ?

A. Chandigadh B. Kolkata C. Amritsar D. Lahor

Which type of law was the Rowlatt Act declared as by Gandhiji ?

A. Black B. inhuman C. Killer D. Conspiracy

Who first unfurled the Indian National flag as a symbol in a foreign land ?

A. Shymaji krishna Varma B. Sardar Singh Kana

C. Madam Bhikaji Cama D. Madan Bad Dhirgra

To which Movement are the statements mentioned belong related to ?

1. “I have broken the salt law.”

2. Mahadevbhai Desai has compared this event as Maha bhimskramasi.

3. Photographers of the world came and published News.

4. 1 by this event, am applying salt to the foundation of building in the form of British Empire -
Which incident is this ?

A. Civil Disobe clience Movement B. Dandi Yatra

C. Non - coopration Movement D. Quit Indian.

By which name India’s Southern most point known as ?

A. Indira Point B. Andaman Point C. Attol Point D. South India

Which longitude is taken as the standard Meridian of India to determine a common time

across India ?

A. 84°20° East Longitude B. 82°.30° East Longitude

C. 80°.42° East Longitude D. 81°.45° East Longitude

Indentify the valley (Ghat) found in Greater Himalayan region ?

A. Gangotri, Yamunatri, Badrinath B. Kedarnath, Dharamshala, Mussoorie

C. Karakoram, Kullu, Kangada D. Jhelapala, Nathu-La, Ship-ki-La
(10)



(74)

(75)

(76)

(77)

(78)

(79)

(80)

81

(82)

(83)

Which is the only active volcano found in Andaman-Nicobar archipelagos ?
A. Barreri B. Kerran C. Lerran D. Little

Locate the Indian River in the given Map of India.

A. Mahanadi
B. Krishna River

Trimbakeshwar
\Nashik
C. Kaveri River

D. Godar ri1 River

Sometimes Malabar coast receives rain in the month of May. What is that rainfall called ?

A. Pomegranate Rain B. Banana Rain C. Amravrushti D. Snowfall
Vasantha National Parks is located in which of the following district ?

A. Jamnagar B. Navsari C. Valsad D. Banaskantha
Which bird is not often seen in the Vijaynagar Taluka ?

A. Surkhar B. Chilotra C. Bustard D. Parrot
Which sanctuary of Gujarat is the largest sanctuary in area ?

A. Rann of Kuchchh  B. Banaskantha C. Porbandar D. Gir

In which state is Kanha National Park located ?

A. Chhatisgadh B. Madhya Pradesh ~ C. Maharashtra D. Gujarat
Where are the flying squirrels seen ?

A. In Greater Runn of Kuchchh B. In the foot hills of Greater Himalaya
C. In swampy areas D. In the dense forest of Western Ghats
When is the world forest day celebrated ?

A. 29-December B. 22 April C. 5 June D. 21 March

In India the power of central and state government are distributed clearly and elaborately.

Under the given subjects which subjects belonges to the union list ?

A. Safety, foreign Matters, Nuclear Power, Economy, Insurance, Post, Wireless Railway etc.

B. Law and Administration, Education Local self government institutions, Agriculture, irrigation,
Health, Land internal Business and Account related subjects.

C. Criminal cases, marriage, divorce family welfare, education. Economic planning Trade Union
etc.

D. Kajya Sabha - Legislative council Lok Sabha, Bill etc.

(1D



(84)

(85)

(86)

(87)

(88)

(89)

(90)

Oon

92)

93)

What is the tenure of a member of the Rajya sabha ?

A. 5 years B. 6 years C. 4 years D. 7 years

Which day is declared as the ‘Human Rights Day’ by the United Nations Council ?
A. 16" January 1948 B. 12" January 1949
C. 5™ September 1949 D. 10" December 1948

Who casts the decisive vote in the Parliament if equal opinion arises in any matters ?

A. President B. Chairman C. Prime Minister D. Governor

What is the process undertaken by the Parliament called when any one of the following is
found guilty of violation of my law. [The President, the Vice President, Chief Justices in
Supreme Court or High Court, Cheif Election Commissioner, Auditor General, Attorny
General]

A. Impeachment B. Jail C. Traitor D. Heinous Crime
Upto what age can a Supreme Court Judge and a High Court Judge continue in office ?
A. 65 years and 58 years B. 65 years and 60 years

C. 60 years and 65 years D. 65 years and 62 years

Which is a regional party among those given below ?

A. Indian National Congress B. Bhartiya Janta Party

C. Rashtriya Janta Dal D. Communist Party of India (marxist)
The correct name of EVM .............. is.

A. Electronic Value Machine B. Electronic Weight Machine

C. Electronic Voting Machine D. Electronic Biting Machine

The dense forest of which district in Gujarat was famouly known as Dandakasany a in the
ancident times ?

A. Valsad B. Dahod C. Dangs D. Aravali

Identify the place located near the Sardar Sarovar where the highest monument ‘The Statue
of Unity’ is constructed ?

A. Nada Bet B. Allya Bet C. Sadhu Bet D. Shila Bet

Where did the scheme ‘Kanha nu naam, Dudh nu daan’ initiate in order to solve the prob-

lem of mal-nutrition among the children ?

A. Devbhoomi Dwarka B. Gir Somnath C. Somnath D. Junagadh

(12)



%94)

95)

(96)

7

(98)

99)

In which district of Gujarat is the ‘Dinosaur City of Raiyali’ located ?

A. Sabarkantha B. Mehsana C. Aravali D. Mahisagar

Under whose rule did the Ayurved Acharya Dhanvantari of the ancident times become
famous ?

A. Chandragupt the first B. Chandragupt the second

C. Samudragupt D. Skandgupt

Which spice is famous as the ‘Queen of spices’ ?

A. Tumeric B. Coriander Powder C. Asafoetida D. Cardamom
By which other name is the dance of ‘Dubla Tribals’ of Surat district famous as ?
A. Haali Dance B. Merayo Dance C. Dhamal Dance D. Chalo Dance

Match the rivers and the cities where in they flow meaningfully and properly.

Rivers City

(1) Aajee (a) Dhwarka

(2) Nagmati (b) Somnath

(3) Hiran (c) Rajkot

(4) Gomti (d) Jamnagar
A) [1-b, 2-d, 3-a, 4-c] B) [1-c, 2-d, 3-b, 4-a]
C) [1-c, 2-b, 3-d, 4-a] D) [1-b, 2-c, 3-a, 4-d]

Which pair from the following is not correct ?

A) The father of Gujarati Khand kavya - Mani Shankar Bhatt
B) Tha father of Guajrati Drama - Ran Chhodbhai Udaygram
C) The father of Gujarati Sonnet - Balwantrai Thakor

D) The father of Gujarati Akhyan - Zeenabhai Desai

(100)In which village of Poshina Taluka of Sabarkantha district is the fair of ‘Chitra-

Vichitra’ usualy held ?
A. Gunbhakhari B. Gundikham C. Delwada D. Songadh

(13)



Gujarat Secondary and Higher Secondary Education Board, Gandhinagar

Talent Search Test
Sample Question Paper-2

Time : 2 Hours] [Maximum marks : 100

Instructions:

Read the following instructions carefully and then fill in the required details in English capital ketters in the
OMR answer-sheet.

1.  Question-paper —2 will have subjects, number of questions, time and marks as per the following table:

No. | Subject Question Number Marks Time
1. Maths 1to 40 40
2. Science 41 to 80 40 120 Minutes
3. Mental Ability 81to 100 20
Total number of Questions - 100 Total Marks - 100

2. This test-book contains 1 to 100 questions. All the questions are compulsory. Each question carries 1
(one) mark. For each correct answer, you will get I mark. For each incorrect answer }{ mark will be
deducted.

3. Total time is 2 hours (120 minutes) for all questions.

4. Don’t make marks or sign of any type in the test-book.

5. Blank pages have been given in the booklet for rough work for the mathematical questions.

6. All the questions in this test-book are objective. Every question has A, B, C, and D options in the answer.
The student is to find the most appropriate option and darken the circle against the questions.

7. If more than one answers are given (circles are darkened)in the OMR sheet, the answer will be considered
wrong.

8. Once the circle of the answer is darkened, the answer can not be changed. Don’t use whitener.

0. The OMR answer-sheet is to be submitted to the supervisor after the test-time is over.

Sample Question:-

1. How many chambers are there in human heart?
A. 2 B 3 C 4 D. 6

® ® O
The right answer in this sample question is C. So, darken the circle against C in the OMR-sheet conpletely as
shown in the example.
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Question Paper-1

Time allowed : 2 Hours Medium : Hindi

Maximum Marks : 100

(1)

(2)

3)

(4)

(5)

(6)

[l e aidld 2uden usdid Grz-l il [aseu goudl. (W1 214 2)

“5 02l Berl . HiRdrAL Arguldel 22 ] Y3el Mol daRs . vl %, vogd saMA
BUIL YEIAHL LY, 5 dHIRL VAL A DAAUIAR HI2 dH SlAl FAGLEIR DRI 9L 7 AR L. SALH Falol
L, UL ML Ut Yol ALl Yoy, “ail il dl 2AHRL sl dl Ul ansid™Mi d
5] dld Mol eoell A% 77 UR L. SAlH Lol UL, CHIZL HLdL AUHEL Sl VIR, U8 DdreL BRI
ey (e da -l wiell o Moy 9. duel we dRal dllwy o %, “olel | Yasclailell A Rl [EHddl
sIH 5%, [Fsdiel sel s2la Al sl 241 Rigidlzt Ha Asodidl QRruRl uR suedl 9.7
3. AOEA SAUM Uldlrl Dartd w3 R si-) wad) v ?

(A) dAL [AdL wiael (B) d¥ril Hidl WAl (C) du-l [as wAdl (D) dxel Bt waell
31 saH 02ulA 611 d 24906 AUl dad A edl ?

(A) 3522 (B) Aalll-s (C) RaLs (D) auluzus

A2 dgriad aidld 2udar uadiqn G-l il [dsey pual. (3 214 4)

“Uldletl Ml SLOURL U511l $1H. 53cl L UIRSL BUR BUHIR = Avidl, e, AlH aU81d. ¥ vl a1
Hey ™ 69 o cll Ullnl 419Y A 81y, 212@ Uld ¥l tleel SISUSL UsieAL Gualal sl aledl « gl dal
501 5810 L5120l A2l d¥l Uldlel 610 i ULSH GUR % (A €14 69 A dlell & Ultd 2 de
W Aa 1A 9. dn artan 2], 2AE5R eloraadl, Sl Anadidl S0 2fl €idl 204 2, ual
a o, Uldlrll ollgeadl 1ol dl o1o1d 69, el dl WSl vaudll d ddin sel 29l <2ll. d < 1A al
glls wiHdl «2l.”

2aeufl HradiA i R (A gla e ?

(A) Wldi-l oif& uz (B) Uldlel 6101 i UA$sH BUR
(C) wRSl vaudd Gur (D) el Adll 18l Gur
BURLSd AavizHi suL Alsirl Al scuHi 2udl €9 ?

(A) vaHANIR L5l (B) A¥g vin deidl-d disl

(C) 2]+l (D) Slldaizgs clsi.

A 2uua e aifld d-l 1A 2uga usdi- G-l aiou [aseu gvudal. (U5 211 6)

“eR1% Y GLAL 69, HerlgA AU 8 24 ALALSI0L 2 WA 9. 2gell 532 gl 1 9. Y8 d WA
sou vlld 69, el drdl &d A 9 i ugdl glg A 9. 2L o UL AR UALs sdM pU0L5A-
lesel us Aledl o 53 9. R Aol GUR UHIR vl (Al Hdedel vt Add adudl sHdlR,
adl2 oidd, ASHL. Al sSa1y © 5 0l Biuai AvAL [l Add Yie] 52,7

1l sHaiell 5 sHdlR st o ?

(A) 50l 080 vl (AL Yyl 2 d. (B) sl ¥4 Geu-21d W d.
(C) Uucrirl 2wt 42U d. (D) % {letHi i d.

2=l 20905 Y1e986 caladl Auis 2 Gersw > ¢ ?

(A) edLagalldig (B) ~1{lot- (C) 2, (D) yd2as,

)



o -l 2nud steaind aidld d-l A 2udan usdiqi G-l aioy [Asey wvnal. (v, 7 41 8)
511 53 S @ 2 HIAH
51 52 O @,
1AL HL2L Hes AU
oied ofloy 59 I 7 2 A,
Ul e 530 Al Alsimell
ol 2 Aglyl 12;
HI9L €9 22 Y HerAd HFUL],
SUlAL HOL wa{lR, 3 HIdH.

(7)  uuel e 2uuell wa g well @i ¢ ?

(A) WRad- (B) AU 1A ol
(C) 4erd ARy @A (D) w3l WdRL i ALSHS(l Al

(8)  stcuia Yol MuRd s 58 ld viedl asu ?
(A) A%BAw, 14 30 (B) WML Hotdul Uis dldlal dal Aglailel 1R ol
(C) H¥ud] Hend s34, (D) Sl vl 24l

o -l 2nuicn sieuiaA aiflA d-l Al 2udan usdi- Gr-u aioy [Asey omudl. (3. 9 244 10)
gldvcll il uL o ua ?
Hieldlell »tiel o 209 ?
2119 ULl Qul dirl e sui ?
Ulefell 2l Midddld 3 29l ?
tluid €9 slU allel vl UG, ?
SRl Helell WiVl 9 218l ?
2L HRAAL g % 69 AR
alel WL Hielal] 9 a9l ?
d sqALZl gual 9y s
ALY Ygl Aval g 29l ?

(9) 2 sraiaml 56 gedl WRRAlAH ad saumi 2udl 8 ?

(A) 2lagle (B) ¥i-lg[® (C) ¢5uU (D) 214100
(10)  S2ui avidl 2gl swR [Qalad wa e ?

(A) 922 8Udl KA & AR (B) ©%2+{l WlelIHl Het L ALdL AR

(C) AlRaIR §8cll sdl 2 AR (D) 4l diHavdl 24 oY AR

(11)  DA-u aceinidl vidl el 4aadl e aikl ?

(A) [Aey[dd (B) RiR4z (C) Mdio (D) AiclulA

3)



(12) DA 2uden aa-uedl aseil 569 A3 sigsiAd Al ?
(A) 2[5+ - wias (B) AR-81A (C) AUAUA-UEt (D) AUr-drt
(13) A s2cus aosei-u (gl asel 2 9. d-l 2100 530 weual 5 A U4 suil [Ase a9 ?

(1) (&)

(1) R (a)  dsalgl

(2) [ast (b)  asl

(3)  Hwoud ) [re

(4) Gala d) dad
l[aseul :
(A) (D-(d), (2)-(a), (3)-(c), (4)-(b) (B) (1)-(d), (2)-(0), (3)-(a), (4)-(b)
(©) (1)-(c), (2)-(d), (3)-(b), (4)-(2) (D) (D)-(b), (2)-(c), (3)-(d), (4)-(a)

(14) 1A 2u0e AoEIAL 921 UIdEL 5L AR-A WL 89 d-l [dseu oual,
([aseul :
(A) OUBLdsL -+ + A+ O + o + 2 +Y + -1+ 2
(B) &A-5+N+o+d+2+2
(C) o -e9-+ 2+ +3+A+U+2+ ¢+ 9
(D) [Astr -+ 2+ + % + U+ L+
(15) A 2udal anuel asei-u [Qrezu-l sul [Aseu wigl € d aual.
(A) aud] - dgdl (B) QL - 151y (O) A - 1R (D) &ell - ead.
(16) 2™ - Glugdl - »u 3[uulol Al A galal.
(A) eliidl dlad, (B) elical-l [$4d L gidl
(C) UL 91EL Yidl (D) U1y Al 289,
(17) A 2ude aosuys WS 28 AotHl sUl [Asey il Al ?

(A) RaMl YA wiell Ylaidl 20Ul - uret (B) @l A eRuiHiell Hidl sieiR - wrwlqu

(C) URRAMAL BUEAL L5l 2410100 el 931 - 213el (D) Hacls U Adl wariRl - »ixl(a.
(18) Il 2uden s ansaui (Al Guaio aui ¢ ?

(A) Qe[ Hisealdl 32l 9. (B) #leR %, eald 531, aid u »q.
(C) A42(ldMl HIOL AR A5E sUsl udral. (D) %aldHiell elusl Alell dlds edl.

(19) N2 54 s Gua A 51 Gers@ 9 ?

(A) Y1o19L Y219 Y2e91dLell UsLs. (B) G4 AHL 2L HHdL Y.
(C) [Qe MUl ¥, de 8 AMa 34, (D) gvtetl GlouL €9 Alei 313 .

(20) DA wsuni sy Aulegs QuAY 9 ?
MRasl 58 8 5 Wl $oruigll 2ud 6.

-~

(A) 58 (B) s (C) 4iall (D) 1.
4)



(21)  asUl A dit usR-Al W& dl {1 2uudl €.
(a) 27 54 5100 seil ? (1) [@MRas (b) 215 5U0Y, oA g 84 Acld. (2) uarilansy
(c) 4 ol o GRA V. (3) Ggauralss  (d) 242, HIRL AL 2aell | 4w ! (4) Filacusy
21 [QR1al A0 530 gual $ DA WA sul [Aseq ¢ ?

(A) (@)-(3), (b)-(1), (¢)~(2), (d)-(4) (B) (a)~(2), (b)-(4), (c)-(1), (d)-(3)

(©) (a)~(1), (b)-(3), (©)-(4), (d)~(2) (D) (2)-(4), (b)~(2), (c)-(3), (d)-(1)
(22) A% 5115 Y2A e

(A) UL (B) AACIR1% (C) [zl (D) £31%

(23) Al 2uden aecinidl SHAl visauHL AUAdL A6E ALk

(A) el (B) ad (C) AHs$IR (D) Alvil
(24) AlRcuuofsiA DA UL 52l 2ialS 3 Y2512 8l uadl ?

(A) AR 25184 2AaLS (B) &Rl ati-tvls il

(C) ALy Yael 2igs (D) uRHdlRus 1dls
(25) DA 2udal Aseiql Ase sl s YL sUl [Asey 0l singl ?

(Ao, ~i, &ML, (Beal, A1, dA[AL, el

(A) &ML, ol URAAL, [Bedl, »u, [Qu-, Alas

(B) vtolld, UL, [Beel, &L, -u, [Ques-, aay

(C) AL, volid, [Beell, &L, U, Alasy, [Qaux-

(D) 2ol UL, [(Bedl, aH, (o, Alaor, A
(26) u, vildAL 24 a3 ws sAL AU A% s AL AL WAL 9 ?

(A) A Hedl (B) HlgAel 5. 2l (C) sisldldo sidas (D) »ade Haugll
(27) A 2uden [aseuisi sun sie a3udl [Qeudl o161 4l ?

(A) g8L - oL Ulsami 29 A €ld, o AiMollA ‘8l 584 ul.

(B) Y5ds - dled, qAledl 2 atyed -l @alell A8 2% Ad, Hidl.

(C) 9wl - 6L yglaloll Al 2241 % dls3aAHL daldl €ld €9,

(D) €155 - 2191l ag) s8al-l 5 2% sl 5011 421l Uzl 2ld 536l SlAUSIR.
(28) - 3(2Yd, G120 1A busL vl ALl UR sUL s[AXt s21anl vl - 53 ?

(A) UMlirie (B) "¥e (C) >1vil (D) AR Hedl
(29)  slavil i dui siaagzu A guda 6 dui 59 [Qod widl © ?

(A) 2RI Hdlel - Uuiaul Aelldi 9. (B) HlRioudi - uel 2nelldi .

(C) wvdleL - Wil 2sflal 9. (D) AHlrierl - 2ol 2elldlL €9,
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(30)

(€29

(32)

(33)

(34)

(35)

(36)

A2 i aHA- H di usR [Qas s3A4 salda 8. dul sut [aseuui d-l (@ ) 4l ?
(A) BHIAvLg - oH{let W31 - GUUL AHIA (B) URBA - UR (2174) B9 - ey A

(C) HlgHIUL - HIS 2 HIUL - grg- UM (D) ALl - Aol Aol - dy2™ -

Read the passage and select the most appropriate option.

For ten years he lived with the wolves. Father wolf taught him how to hunt. When he felt hot
ordirty, he swam in the forest pool. Sometimes he wanted honey. Than he climbed up trees like any
monkey. He learnt this from his friend Ballo, the bear. Bagheera, the panther gave mowgli his first
lesson in climbing steep rocks. This man cub was a good and quick pupil. “Little frog”, said Bagheera

when Mowgli was still very young. “You must never hunt either cows or buffaloes. They belong to
man. This is the law of the jungle.”

Sometimes Mowgli went down the hill by night. He looked in the interesting way the men’s
huts. But Baloo and Bagheera taught him to keep away from men.

“Yes, I will live here with the pack.” Mowgli told his friends. “ I was born in the jungle. I have
kept the law of the jungle. I have pulled thorns from the feet of every wolf in the pack. Surely they
all are my brothers.

What is the law of the jungle ?
(A) to hunt cows and buffalows is compulsor
(B) to hunt a man is prohibited

(C) to hunt cows and buffaloes is prohibited.
(D) to hunt a man is compulsory.

How many animals are referred to in the passage ?

(A) seven (B) four (C) Six (D) Five
A group of wolves is called
(A) A pack (B) A herd (C) aswarm (D) a fleet

Where had Mowgli been living ?
(A) in a village (B) on the tree (C) in the jungle (D) on the rock.
Read the stanza and select the most appropriate answer.
River, river, brimming river !
Broad and deep, and still as time;
seeming still, yet still in Motion,
tending onward to the ocean,
Just like Mortal prime.

In this stanza, river is compared to ...........

(A) Middle-aged Man (B) a careless youth
(C) a child at play (D) an old Man
‘brimming river’ means.............

(A) Completely full river (B) dead river

(C) dry river (D) overflowing river

(6)



(37) The river seems still, yet it is ...............

(A) Brimming (B) Broad (C) Deep (D) in Motion
(38) The river is flowing towards ................
(A) the sun (B) the Motion (C) the ocean (D) the time

o Read the following pie-chart and select the most appropriate option.
Favourite Sport

(R.1') TR is the most favoured sport.

(A) Football Hflc :23 y

Tennis Swimming
(B) Tennis 12% 27%
(C) Hockey
Football
(D) Cricket 20% Cricket
30%

(1) TR is preferred less than cricket but more than football.

(A) Hockey (B) swimming (C) Tennis (D) soccer
(41) Which statement is correct ?

(A) cricket not so popular as Hockey.

(B) Football is as much popular as swimming.

(C) Tennis is as much popular as Hockey.

(D) Hockey is not so popular as swimming.
(42) Which statement that Tennis enjoys less but not the least popularity is ............

(A) True (B) false (C) can’t say (D) Not given
o Select the Most appropriate option.
(43) one can find Lord Vishnu in different shapes and .............

(A) Posture (B) Postures (C) Posctures (D) Poster
(44) Udaymati took up the project for ............ the problems of water scarcity faced by the people

of patan.

(A) to solve (B) solving (C) sollution (D) solve
(45) We can enjoy the ......... of nature in Shimla.

(A) beautiful (B) beatifully (C) beauty (D) to beautify
) Find out the most appropriate reported sentence.

(46) She said to her friend, “Do you think your teacher will come today ?”
(A) She told her friend that she thought her teacher would come thatday.
(B) She asked her friend whether she thought her teacher would come that day.
(C) She asked her friend if she thinks her teacher would come that day.
(D) She asked her friend whether she thought her teacher will come that day.

(7



47)

(48)

(49)

(30)

(31

(32)

(33)

(54)

(35)

(56)

She said, “ I tore them for my surprise”

(A) She said that she tore them for her surprise.

(B) She told that she had torn them for my surprise.

(C) She said that she had torn them for her surprise.

(D) She said that she had tore them for her surprise.

Select the most appropriate question to get the underlined word / phrase as an answer :
He ran very fast to reach the school.

(A) How did he run to reach the school ?  (B) Why did he run fast ?

(C) When will he reach the school ? (D) What dii he do to non fast ?
He gives perfect answers.

(A) Who is capable to give perfect answers ?

(B) What did he give perfectly ?

(C) What does he give perfectly ?

(D) How does he give answers ?

Find out the most similar word

Wicked

(A) honest (B) evil (C) weak (D) strong

to taxi

(A) acar (B) on rent (C) move slowly (D) a plane
Frightened

(A) cruel (B) fighter (C) soldier (D) scared.

Identify the funtion of launguage.

He bought neither a scooter nor a car.

(A) Showing emotion (B) showing necessity
(C) showing alternative (D) showing contrast

Complete the sentence with language function ‘contrast’ pahom ranfast to reach the starting
point.

(A) but could not reach in time. (B) and he tumbled in the way and fell down.
(C) so that he could get more land. (D) so he was deadly tired.
Select the most suitable conjuction to complete the meanigful sentence :

Raja works hard, he doesn’t get the expected result.

(A) since (B) When (C) Though (D) In spite of
Work hard you will not succeed.
(A) or (B) but (©)so (D) and

Arrange the jumbled parts to make meaningful sentences :

(®)



raining heavily it js not possible asitis , to go out  for us

(57) 1 2/ 3 =3 5 6

(A)6,4,3,2,5,1 (B)4,1,2,3,6,5 (©)3,2,1,4,5,6 (D)6,1,2,3,4,5
(58) Guj 1arat / 13‘[ / Ahme3dabad / most p:lluted /one (;f the citie65 of

(A)3,2,5,4,6,1 (B)4,2,1,3,5,6 (©)3,2,5,6,1,4 (D)5,6,1,2,4,3
o Find out the most appropriate response to complete the dialogue.

Kiran: _ (59)

Naren : [ went to my native.
Kiran : How long did you stay there ?
Naren : __ (60)
(589) (A) Where did you go last monday ?
(B) when did you go to your native ?
(C) How did you go to your native ?
(D) Why did you go to your native ?
(60) (A) For my cousin’s marriage.

(B) It was two feet long.

(C) At3pm.
(D) For two days.
(61) TTIE Ht RIERT § ARG | T, A (TFE) 3T e # giaaratedt St WTaET St |
(A) FeT (B) Stereha (C) 3rEwaTaTs (D) FeiE
(62) = T T TG SRA & F {FF IIR TG ST HqET ST & 9
(A) fafemm #fes (B) R (C) i (D) et

(63) 9ty TRET ® faedR # faqe AT # “@iAs da” Headr &, tW Iu A F § 2
(A) T, T, Fad, F3aT INTEAT AR AERA  (B) 3™RHT, TR, g, B

(C) WM, vRA, UTgai~s, A MET (D) UTRREAT, <, SciehT, MBI
(64) TCHT H I2T FAMT 7T &, T5oH 6w 329 H7 GHEY TEF &ar & ¢
(A) ARG QT 3T FIAT BT AT FAT |

(B) IR ATt T AMIfaHT T ¥ AEIRAAT ST & [AHTAT |
(C) T8 T g 3T A HI IIUSAT AT AT |

(D) gH=ATT AT =T |
(65) TIH Tt BT AT FT BT H B 2
(A)a‘%ﬁ (B)ﬁ'q (C)?{éfﬁ?ﬁ (D)%iﬁ'clT

)




(66) == Y Y IMpld TFE AR TWT BT UdlE & 9

(A)ILO
(B) UNICEF
(C) UNESCO
(D) FAO
(67) SAITATAT AW HF TS Fal g8 A ?
INEER (B) Ficieprar (C) 3rgaax (D) @ER
(68) Tcic TIT T NS F BAT BT HaT AT ?
(A) FTaT (B) srTet (C) B (D) st

(69) FAYRT Tq=ell YA I ARG HT Jrad TGS [HH BEET o7 ¢
(A) @St T Al (B) WERRE o (C) w7 Nymrssit &7 (D) ASAeT iRy
(70) == f5U U fqum 6w oAt 9 HEtid &, 9d1gy
(1) H F9% FT FTIA aqrg T |
(2) FETRAATS FHTE IH HETATTSHHAT F FY AT H ¢ |
(3) ST B BITHTHET TH WITH I 3T 3T TATAR FHI 6T |
(4) Tafesr AT P ARG &t AT # THF @ @ £ |
(A) TG &1 |1 (B) Si<t B9 (C) 3rEeaiT afigier (D) WRA Sigt
(71) WA BT ST (3HTH) B 67 TH F T@=TAT ST o7 ©
(A) g Uiz (B) siwaT dige (C) T uige (D) HeToT W
(72) WA FI YTATVTE THT JAT BIA-G1 2 9 TT0H1 =T T & T/ WRA BT G076 5T /AT @0 8 9
(A) 84°20° gt Zeriae (B) 82°.30°qdf duiaw  (C) 80°.4209df dortaw (D) 81,4509 dariew

(73) e AT A - T T E ?

(A) T, FHAT, TS (B) HIRATY, HAMAT, AGIA

(C) BN, FHeel, BT (D) SATI@T, AT, RTesta
(74) SEHAM-HEAR 9 THET § HIA-AT ARAT AFT ATARTET & 2

(A) A (B) & (C) &= (D) e
(75) WA ® WETAT | IS T T& B GE=AT |

e i

(B) FomEt

(C) Hradist

(D) Tt % Bay ot
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(76) 7T A H AAWR [FAN TR B4 a1elt a7 {67 AR & YgaT=1 STl 9

(A) 3R a9t (B) T auf (C) 3w gt (D) f&w afe
(77) TrEET TS IA A e # T gam e ¢
(A) SRR (B) FaEmt (C) TeraTs (D) FATHHIST

(78) TISER AAHT # ANDA § (ST I T4t BT A& 9
(A) g (B) Faet=n (C) =g (D) drar

(79) FIF-|T ITHIARCT TG B HT6A # T TT THIROT 8 ¢
(A) FT5 FT W07 (B) SATE®IAT (ORIEEER (D) M=
(80) HTaT IWANUY P ST H & 9

(A) &S (B) FeA93aT (C) Ferrg (D) =TT
(81) 3T Rreedt war o fgwrs &dr & ¢

(A) T & ¥ WA & (B) fewmem & S wddig gt #

(C) S@sct gt # (D) uf3yaTe & o St yaert #

(82) “fay o= Toaw’ &a HAET AT & 9
(A) 29 TewwR (B) 22 3 (C)5 37 (D) 2171

(83) NG # B3 3T TSl F AT FAT BT e R T o= fopam wmar 2 | T i fow o fawert
AY A fawg d g B § 2
(A) Twror, fagstATe, TRAT] o, fam, s, SfeT Sre-ar @ anfs |
(B) A 30T I, 8T, R @y Bt SR, V-, @, S, 1A S 3fiY
arfoTse fawoe Fart |
(C) wiErt ", farg, e, worayor, e, st g, @mamt d& Sy |
(D) TIWHT - [T qRug AHHAAT HT Teie M0 |

(84) TSUHWT P HIHT FT BUBIA b= a9 BidT1 & ?

(A) 5 a9 (B) 6 a9 (C) 4 a9 (D) 7 ad
(85) Tg® T FH AEHHT FW WG ATUHR f5a@’ Fa wifva fowam mam ¢

(A) 6 I, 1948 (B) 12 Sat, 1949 (C) 5 faaww, 1949 (D) 10 fsuwrw, 1948
(86) WET # g FREr W fouass W T6@M | Ugd &, a9 “THuiias |7q” (SRS 9Ie) BT 2d1 2 9

(A) Tt (B) 3remmey (C) werr=#=T (D) Tt

(87) THS UUTT, SUGHT, Hared 3R 3= AT $ ATIH, HST = H, Mgy T,
Tt ST NS BT BT BT HT B T v TATHT U5 | &S THT 2 |
(A) FETHTHTT (B) Frram (C) T=tE (D) HETSeRTEr

(88) HaT=T AT 3NT I=T ATATAT P ITITEN b BRIBIA BI 3@ fpar & 2
(A) 65 aF 3T 58 a8 (B) 65 A 360 7 (C) 60 TF 3 65 a& (D) 65 I 3T 62 T
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(89)

(90)

&2

(92)

93)

94

95)

(96)

o7

(98)

99

frefeiiaa & & #9T &, AT ST 2 ¢
(A) AR T FHF (B) ARAT STaraat
(C) TSR ST (D) FRIFRE UTet it glean (Areriara)
EVM &1 Wl 9 .......... 2|
(A) SeRITTRT Ao wl (B) geteifrer g2 AfA
(C) ToITTa AT B (D) geagiiaRT atfer #sia
TS B 6N @ BTG SO 1T G 9T qAT A SSHNOA’ FErar A7 ¢
(A) FetaTEg (B) =T&r= (C) zh (D) raeedt
%9 7 TOH F91 W AF e TER TUR S A61H [H9 = 9° Hia fear @ g ¢
(A) 7=TEE (B) srferamee (C) mryre (D) ferarerse
FAIS SR B FATT T b B B (70 FH ST # BT BT HTH, T HT I o1 T B T
27
(A) STTH T (B) e wremey (C) FrT (D) TTe
TS # SEATR Wl FaT Aarar et = 6 e # Rud g ¢
(A) STaRiaT (B) #&=moT (C) et (D) HEATR
YT I # UG I gHdad [FHS 9T 7 o ?
(A) F=TH g (B) == Tt (C) w=TH (D) w=TH
FHAT B A B ATH H P TEAAT AT & 9
(A) &=t (B) erfeam (C) & (D) gera=t
A TSTAT & GEET SMGATAT BT T BIA T TH FEAT & ?
(A) Bt I (B) AT (C) aorer g (D) =it
SICRE I
dt e

1. st a. SRl

2. AW b. HEAT

3. f&= c. TSHC

4. d. STETR
(A) (1-b, 2-d, 3-a, 4-c) (B) (1-¢, 2-d, 3-b, 4-a)
(C) (I-c, 2-b, 3-d, 4-a)(D) (1-b, 2-c, 3-a, 4-d)
AT BIF-H SISt W@ A2 2

(A) TSR TiEHTA B Tar - ATTHT 9 (B) TSA! ATCH & U - WBEHTE STIA
(C) TR |iHE & TaT - Jerda arhiT (D) TSR 3T ® T - o S9g

(100) T # “TaF-fatas 1 AAT ARSI B AT TEHd 69 qrq # FEifea f6ar Jar g ¢

(A) TOTHTERY (B) &t (C) SwareT (D) W= Tg
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Gujarat Secondary and Higher Secondary Education Board, Gandhinagar

Talent Search Test
Sample Question Paper-2

Time : 2 Hours Maximum Marks : 100

g e

F T gEeT F AFES UGT IHE I8 T T OMR SIS T AR SR ST s 1
Hiyeat star | fod ¢
1. -2 ® FeER favE, gt 6 S, 9ee iR Ui @ |

% | fasg s AH G shHIh 3&h q9g
1 TfoTa 1940 40
2 fomm 419 80 40 (120 FFe)
3 YHGeh &1 819 100 20

el I57-100 quifeh 100

2. YA IS H 1 ¥ 100 ¥ e TR, f g e ® 1 U-1 (TH) STEHE |

Teeh TEl ST o T 1 3fer fei 3R weder Totd SR o T )4 ofer ot smardt 3t |

[t gt & foru a1 w9 2 =2 (120 fae) @ |

JeA-gf&T OMR &1 Hie § forsll ot werR ot f7em = fagd 7 & |

ToTTeres T % T oo o ToTe wee-qien | |1 U9 fed o g

T TY-iaqen o G T3 S YR o ¥ | ek W9 o fashed H A, B, C, D, - R fashed

fe e, foed A foenferdi o wel forhey Sen, So o fore Heifua we & @ fou e ol &

3 (@) I qUf T4 ¥ TET |

7.  OMRTYRH Th T U o folu T | A4k g1 ol 01 i, 1 I8 ST ITerd |1 ST |

8. Uk N S folt g ol quf oA % oTE, Yz U el el T Tehell € | SR Hl ST ot e
X TR E |

9. e W gHF gl B F 9E W FRiersh F 3 OMR e wieHT 8 |

JAUT Y& ¢

S

. T HEd | i d@e
A. 2 B. 3 c. 4 D. 6
® ® O

STRI SEETO H W I C ¥, 39 I OMR # € ¥ Hr T U 99 3 SeEEel H S STER o
MeT |
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Question Paper-2
Time allowed : 2 Hours Medium : Hindi
Max. Marks : 100

.  EEI 0.6 FP/q @Y ............. g

(A) 3 ® 3 © < D) 3
2. 3d TN TV WY dell W& L.............. gl

(A) UTHidsh (B) Yuis (C) dH (D) TEEA

172/3
3 T

(A) 1713/15 (B) 177/15 (C) 172/15 (D) 171/15
4. (5 5)7 1) WA EEY ... i

A) 12 V12 B) 35 35

(©) 35 57 75 35 (D) 35 5v5 747 Bs
5. TgUS ST TEIE oo TE & TR |

1

(A) 0 B) 2 © 2 O 5
6. AR x-1Tpr) =k’ 3 x+] F THUAEE Ak H oo T 3 |

(A) 1 V2 B) V21 © 2 DO -2
7. WG 344y — 77 +| 54 + 8 B M ... gl

(A) 1 B) 2 ) 8 D) 5
8. ARpH) =52=4x+3 FA pix) =..c..ceno....

(A) 12 (B) 24 C) 36 (D) 48
9. y=2 B FE G covrrrrrcrorrersrnnes @R

(A) x-378] % FHR (B) y-3181 o HAWR

(C) 3 foig ¥ TRA areft (D) < stelt b yfaesfed o areft
10.  2T9 x-3787 <t & feom oK y-ore1 ot R0 feon YRR gw e, dremy ..., =0 H B

(A) 7IH (B) fxi= (C) = (D) =g
1. IRx=yA (X Yoo, O, x)

(A) = B) # © > D) <
12. T =1 9896 TR ax + by = + ¢ = 0 F Hdh FEI I ... gl

(A) @ (B) Y@rEs (C) fomm (D) I
13. GO 3x + 2y —16=0 7 THEH oo gl

(A) (2,2) B) (2.3 © 24 D) 2.5)
14, Q@A \3x 2y 5 ATEfA@ R H C=............

A) 5 B s © % NG
15.  “<Ie 9% 1 FHd U 1 G g S | 39 FoA F EEe R G e

(A2 g Fl HFA T x TG YA S R F p A

(A) x-2y=0 (B) x+2y=0 ©) 2x-y=0 (D) 2x+ty=0



16.

17.

18.

19.

20.

21.

22.

=1 ua g fava § wa €, T8 oo, afirfa 7 |
(A) FfFTEa (B) i ©)
IRRTE N elements ¥ TwE-1 # foa! =@t & 2
(A) 33 (B) 23 (©)
.......... 9 §E Yo Aq 39ud &F off |

(A) | (B) URHANIRE (@)

3T H TUMW T o STTER S0 6l 791 § LAOB =

A

D

E

»
>

ecip| (D)

13 (D)

FfTs (D)
(A)
(B)
(©)
(D)

aTfa # AB L AD, AB | DE ® | aIfg ZDBC=32° @2l /BCE=68° & I, y-x =

AJ B (A)
32" (B)
©)
(D)
y 68"
D C 1'3 g
epa H €T 7Y % L ABD=120° 3R /BCE=130°2I I, Z/BDE = .............
A
(A)
B 120° (B)
©)
(D)

920
620
420
46"

105°
104°
103°
102°

70°
80°
90°
100°



23. S H A o, G ¥ |

;‘:?\ ’ s, 'ys? Ed J‘r}'y é S
(A) A ABC = AXYZ
(B) A ABC = AYXZ
(C) AACB = AXYZ
(D) A ABC = AXZY
24, 3 H LP=90° 3R PQ=PRT @, LQ & HM................ gl
S
(A)  30°
(B) 45
» ©) 60
(D)  90°
Q R
25. AD=BC 3R ZDAB = ZCBA® @ 9q4st ABCD T 1 AGBD =5 WAC = .............
A N}
f P ) 5
B) 6
) 7
(D) 8
B
C
26. TEEE A ABC # 5T AB 3K AC % Aftrag sow: M SN E |
Ifc AB=6 T, & @ 9qs MNCB &l 9Rfa=........ .
(A) 12 (B) 15 (C) 18 (D) 20
27. 3T@d PQRS # PQ=8 . QR=6 {Hl. & @l ferskol PR & AU ................. . 2 |
(A) 10 (B) 12 (C) 14 (D) 16
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28.

29.

30.

31.

32.

33.

34.

35.

36.

e 995 ABCD # AD || BC € M 3R N %53 AB 3R CD % neafeg 2,
Ife AD=12 3R BC=20 & & MN =p.........
(A) 8

A D
B) 32
(C) 16
7 S i (D) 24
B C

TR =gHs PQRS # PM_LRS @R RN_LPS | afg PQ=14 ¥,
PM-12 9t 3R RN=20 4. & A PS =..............

(A) 82 (B) 84 (C) 86 (D) 88
st B A S WA ot 3 fawrsm &=l § 1
(A) THEY (B) wHfgag (C) HHam= (D) THaTE

A ABC % AD 5T &, E 98 AD W o &2 +ff fig ¥ | 92 ar(ABE)=64 a2 &

@ ar (ABC)=......... et .2

(A) 32 (B) 64 (C) 9% (D) 48
TR =g ABCD % AB L CN © 1 afg CN=14 ¥, 3R ar(ABCD) - 280 It .2 7,

(A) 14 (B) 20 (C) 28 (D) 40
Tfa § LPQR=120° ST&i P, Q 3R R I8 O = a1t 99 W feord fig ¥ d LOPR=..........

Qo

y 4:/ 20" \\\\\\ \\\ ( A) 10°
VAN (B) 20°
| ] (C) 30
(D) 40"
Tt § LABC=69", ZACB=31°%, d /BDC = ..........
NN (&) 100
/ \ \\ (B) 80°
o N C) 69
C— #\ (D) 38
5 9. @i 3 et foreen ot 31 g <1 fargedi W wfaesfed s € SR Sk g & o= i gl
4 9. ® 1 GE Siel e .
(A) 10 B) 6 C) 8 (D) 12
13 Gt foroon At 99 o s 9 5 I, g R feera Sfen st oferg fehat g 2
(A) 10 3. (B) 129, (C) 249, (D) 269,
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25 3 o geIqa § fordl) fommeff #0115 7ok fret 39 =12 o 9IS T ... 2l

(A) 5 B = © 3 o 2

wiot i 5 Ol H 9 ke H W 50 s wee fopd Sa ¥ @R 30 e we gl st
it 9 FEFRH 1
Seft 1 2 3 4 5

S os g 39 48 46 45 49
el 1 45 | erfereh ofisT igplid B o Gerre fepat 2

(A) 3 ®) 2 © 3 D) 1

Hrem faemt rfera sarr § fasedt @mar 100 feA <6t st drem <t gof geneit # § 60 fet
o TE g2 B o 3 A Sl WA ferat ?

(A) 0.6 (B) 0.4 (C) 0.3 (D) 0.7
. I 9 % 50 faenferdl 9 worm wuel H wrHiE H Hifed FTE TR € |
32 48
18 50
foreneff 45 ¥ siferer 3ieh T fohdl € | 29 A B GHE oo gl
(A) 0.18 (B) 0.64 (C) 036 (D) 1
. faum-A § w7 ifaes aftn @ fawm-B # gl g SI Ak & wie 9 e H wifgy |
A B
(i) <= (P) T
(i) oA (Q) =HHrX
(iii) g (R) dE=d
(S) HfeaH
A) )—>®) (i) —(@Q (ii) — (P)
B) ()—>(Q i) —>(©S) (ii) — (P)
<€ OH—>®) (i) —>(©S) (ii) — (P)
D) ) — (P) i) —->®) (ii) —(S)

. T ool S S AT T fhg am # arftaes it X ged ifes 2 o

(A) (B

) (

C D

H Y



43.

44,

45.

46.

47.

48.

49.

50.

S1.

52.

53.

a3 o geteRto 3 Ty shi-oft uffefa dra 2 |

(A) = aE, T T (B) =41 AHH, 1 T

(C) 9= qr9vM,3=d <« (D) =4 dIYHM, 34 qE

2o ol Uk fereen § MR iy 2 8, Wiy e ue § e S S 6 ST SR S B
1 ¥ ¥ Iy faeed TEe FifT |

(A) STifegsH (B) T (C) TR (D) U ATy
ot o @ - fifees Tied= g,

(A) e A fosrer (B) e H ST &

(C) e & T &t grg (D) oI ¥ IR T

(A) (i) (i) #iR (i) (B) (i) (ii) 3R (iv)

(C) (i) (iii) 3 (iv) (D) (i) (iii) ¥R (iv)

=1 # 9 s1a7g 1 g |

(A) sTmEfeR (B) @@ (C) hfcerm (D) wifesm

e ad ) HE ¥ el ¥ g qdelt @ s del TR T ©, S gr wie T srerviieno
-G Tgfa S R eTer e H STEnt ©

(A) =T (B) ®FA (C) YeABEIUIY (D) STYeA
o o | e e feifed e et S H e € 2

() TR % FoRTOT o YehO ST 8, (ii) o8 fovmi fagw § (iii) o% oerE B ®

(A) (i) R (iii) (B) ()R (i) (C) (i) R (i) D) (), (i) ¥R Gii)
o 3§ @ - fagor gai figor € 2

(A) =+ T9h (B) U + @Ml (C) U+ 9 (D) U+ dd
T G S F A T 9 Y 35 ST A8 o YYH &R o <

G (Potassium) & T&l G 1 2

(A) Po (B) P (C) K (D) Pt

o 3 9 o el o1 TCHTUS Qe STUeY ZeHIA WHA § 2

(A) sifA (B) FAMRA (C) ERH (D) Eifer=H
Tifgam (GasThar: +1) SR e (FarsThdr: —2) SgaR o7 det AfiTeh 1 STIE STy |
(A) NaCo, (B) Na (CO,), (C) Na ,CO, (D) CO\Na ,
o o 9 form Sirg # At S S TE €,

(A) 12g & 3R 1 g BES oA (B) 14g™EersM iR 12g 3tiferst
(C) 32g T 3R 71g FAMHA(D) 40g HfeerEm 3R 2g U
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54.

55.

56.

57.

S8.

59.

60.

61.

62.

63.

64.

faam-A ¥ <t T ufer @1 fawm-B & Wi W@ % § Sifsu |

faur-A faur-B

1. 3@ () () €M, I A EA

2. foamw (i) ms™

3. = (iii) eAfew =it

(iv) ms3

(A) 1> 1i,2—>1, 3> 1iv B) 1—-ii,2—>1, 3 - ii
©) 1> 1,2 —iii, 3> iv D) 1> ,2—>ii1, 3> iv
Tehich 99 § aared o o1 | grar ufedd -
(A) T (B) fawemm (C) 3frma am (D) RO

IR AT P, Q, R, S Uk &1 faun # U & TR R Uk & T § Tk |e T HAT SARY A
e a8 & AT HeH S BN | SR oh SMUR W I 1T |

(A) S
i (B) P
Q
T v © Q
(D) R

g -
afefast wdo e Fagarel 79 W 2 Kg §o90M o1 T veid 4ms! TS 3=t o 9 Wi @1
% Tt 3aH & A A 19 TR e T € 39 AU S8 W e HETet 91a...

(A) 32N B) ON ) 2N (D) 8N
o Wl g8 o =M i § T a9 a9 H 43 =l 1 a9 % i % fawg fown # e v € |
I A 2 o B W T W § ?

(A) Tgel (B) U (C) dr& (D) W ey
T TR S SR o i 3N foRan ST @ 35k @Ror § o ufkad grm ?

(A) e gmm (B) gTEm (C) WRTTIM (D) TN AW
Yealt i HE W HAE T ST § T 7 g -

(A) TEAEI (B) we@®I (C) g IRed =&l Bl (D) Teel ST iRt 1T |
geaft off Hae W Tk Te1d 1 o Yea o e ol T € Al SE a1 W SEeh oo TRl BT ?
(A) 1.63N B) 1IN (C) 9.8 N (D) 1/6N

b I el e F A H TS gig e e |

(A) 9.8 ms™ B) 9.8 ms™ (C) —9.8ms™? D) -9.8ms™
e S HTF........

(A) dre (B) diee ©) (D) N

60 W =1 Teh Tarega sesl Widfer 6 52w # feren < § | sosl §R1 Uk fee @ e et
T ged  Fnf
(A) 36 (B) 036 (C) 360 D) 10
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65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

TSt St o T i-a1 T @t =21 € |
(A) g I TSt ST S5 =Tel % WY g ¢ |
(B) o&] H SHeh Tl o SHRO1 Icuel BITaell St shl Tt o1l el € |

(C) E,=mgh
(D) it Sl A1k 5 ¢ |
T ht TUET R 2
) 2 Ht fozemm .

SN,

E
(A) ST (B)2/5 ] (C) 5217 (D) 107
o= 3§ - Sifien Sl gedi o 9 o forg Seeerh € 2
(A) RER (B) ToiieE (C) =™ (D) gt
7 § § -9 e TEam T ?

(A) TEH H AT R A

(B) WM ol Shif¥Ten § STavaehal e fofemeemi o o & |

(C) =Xalt % YU o HEwor i T TEFH ¢ |

(D) e ATIHSIH sl Scael i ol Thrd el & |

T T H W STfee e s o s o e - SR et € 2

(A) YA (B) ToiieE (C) <HOMSA (D) A
<ig 512 YA Sk | fohd Werr il Shifrehrd et fereh € 2

(A) Tig hITTe (B)  9I&Th ShiIf¥TaRl (C) TEEHRHE (D) AR HIMH
HEEeAaTE o aeafadl 1 sid:Er fohe T o o e © 2

(A) HeFe (B) HlH (©) Hfewd (D) feri
1 o W el SFiTeseh S Sdeh el 8id € ?

(A) sST@: = (B) wEEIE (C) e (D) WFEm
<91 SIS STetl WOl T A9 ?

(A) TSie (B) AYIHE (C) T (D) =ity
TRT=S H 22 fohae Wei &1 91 2rl & 2

(A) @ (B) (€) =R (D) T

Jr eTrhfa § guIfe T (1) 9 (11) 3 M % fere 9 foeeq T8g i |

(A) (i) TRAHR (ii) THERIE Th B) (i) Tfeg (ii) TR eh
(C) (i) Tafsg (if) FART= (D) (i) TR (ii) HehraTeiaart
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